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ES-341 : TEACHING OF SCIENCE
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Note : (i) All questions are compulsory.
(ii) All questions carry equal weightage.

1. Answer the following question in about
600 words.

Explain the need and significance of science and
discuss aims and objectives of teaching science at
secondary level.

OR

Differentiate between enquiry and problem
solving approach. Explain use of problem solving
approach with suitable examples.

2. Answer the following question in about
600 words.

Discuss the importance of Laboratory work in
teaching science. Elaborate the considerations you
will follow while planning for science laboratory.

OR

List the factors affecting lesson planning. Explain
a lesson planning approach which you think is
best. Justify your answer.
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3. Answer any four of the following in about
150 words each.

(a) Teaching of Allotropes.

(b)  Explain the application of refraction of light
in daily life.

(c) Teaching of difference between mitosis and
meiosis.

(d) Describe the structure of an atom.

(e) Teaching of conservation of resources.

(f)  Describe Big Bang theory.

4. Answer the following in about 600 words.

Select a topic for an achievement test, develop a
blueprint for the same.
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